1 18 11 6 2 18 11 24 3 18 11 7
18 12 25

1 6 1 0.001
g/m’y 11 24 2 0.001 0.01
(012 ) 1 7 3 0.001

1 6 1 8
ppm 11 24 2 10 20
(0=12 ) 1 7 3 7

1 6 1 35
ppm 11 24 2 23 50
(0=12 ) 11 7 3 46

1 6 1 3
ppm 11 24 2 6 30
(0=12 ) 11 7 3 10

1 6 1 0.0000047
ng-TEQ/m’y 11 24 2 0.00019 0.1
(012 ) 1 7 3 0.000056

opr 1 6 1 8

(0~12 ) 11 24 2 7 30

1 7 3 9

1 6 1 0.01
g/, 11 24 2 001

1 7 3 0.01

1 6 1 0.01
g/, 11 24 2 001

1 7 3 0.01

1 6 1 0.1
g/, 11 24 2 0.1

1 7 3 0.1

1 6 1 6.5

11 24 2 6.4

1 7 3 73




